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60 90 120
3 22 96 155
4 34 122 216
1 5 35 122 223
7 27 95 164
10 16 56 90
12 28 96 206
15 28 96 155
BER HHETN Nm 20 35 122 230
25 37 122 237
) 30 25 96 164
35 35 122 237
40 35 122 230
50 37 122 237
70 30 95 174
100 16 56 90
BRAWEIETN Nm 1.2 3~100 2fFENEH R H
_n 1 3~10 >96%
R %
2 12 ~100 >92%
FERE® h 1.2 3~100 20000
TERE °C 1.2 3~100 -20°C ~ +80°C
g ia=243 — 1.2 3~100 P65
RITTH = 1,2 3~100 ES=val]
1 3~10 0.9 2.75 6.75
b= kg
2 12~ 100 1.2 3.8 8.85
BUEMNFEIEN N rpm 1.2 3~100 4000 3500 3000
BARBINFLZRN 1max rpm 1.2 3~100 8000 6000 4800
BABFEMADFn N 1. 2 3~100 320 680 1730
BRABIFHIEIF2a0 N 1,2 3~100 260 620 1270
IRE dB 1.2 3~100 <58 <60 <65
_ 1 3~10 <7 <7 <7
AR P2 arcmin
2 12 ~100 <10 <10 <10
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3 0.28 1.55 7.3
4 0.27 1.5 7
1 5 0.27 1.49 6.97
7 0.25 1.24 6.26
10 0.25 1.24 6.24
12 0.27 1.33 6.92
15 0.26 1.31 6.9
®iRE kg.cm? 20 0.27 1.28 9.67
25 0.27 1.28 6.67
: 30 0.25 1.27 6.66
35 0.25 1.27 6.65
40 0.25 1.27 6.65
50 0.22 1.1 6.3
70 0.22 1.1 6.3
100 0.22 1.1 6.3




